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1 The saying *Saat vaar, nau tyohar’ (Seven days.
nine festivals) is associated with which state of
India?

Choose the most appropriafe answer from the
options given below:

(A) Odisha (B) Gujarat

(C) Rajasthan (DY Bihar

(E)  Question not attempted

o T A T T e s ¥ fe T 3
wEfmdy

ﬁmﬁmm&ﬁmﬁwmmgﬁ
(A) fem (B) TUA
A€ TINH (D) frer

(E) FEiaws

In Rajasthan, inserting a gold nail in the middle
of teeth by women is called:

Choose the most appropriate answer from the |

options given below: ‘
(A) Baari (B) - Borla
(C) Daamana (D) * Choonp

(E)  Question not attempted

T # wfearell g gE & e @ R A
TmEFE e

Frrfefar et 3 & warffires suge SwOgH:
(A) @it (B) #Em

(€) =M Py T
(E) HqEf@yd

In Rajasthan goddess Sanjhi is an incamation of:
Choose the most apprapnale answer from the
options given below:

(A) Seeta (B) Parvati
(C) Laxmi (D) Usha
(E) Question not attempted
wreyT 3 3t At e & sraam &
ﬁn%ﬁqaﬁaﬁﬁﬂmﬁbm%mﬂi,
(A) By '
©) wwh (D) 3=
(E) pufays

KLM) ¢ |

4 According to the 2011 census, which district had
the highest sex ratio in Rajasthan state?
Choose the mast appropriate answer from the
options given below:
(A) Jaipur
(B) Dungarpur
(C) Jaisalmer
(D)  Dholpur
—_ (E)  Question not attempted
0 20m # ST % SATER THEIH T § Fa
) ot e o e 27
! ﬁwraﬁaaﬁmaamffammmga
) IR

R & I

Ted (C)  SEEHR
0o dag
e (E)  TTWA W

— '
5. Which of the following districts had the highest

- literacy rate in Rajasthan according to 2011 cen-

—" sus?

_1 Choose the most appropriate answer from the
:'—' options given below:

._J (A) Tonk

" " B) Chun

\'-'J (C) Kota

(D) Dausa

(E) Question not attempted

201 1 Y ST 3 STIRR Frerfivfr 3§ & TR
3 forr Fove o TTATRAT ST ey vy T
Wﬁgﬂﬁﬁ@ﬁﬁﬁmmmiﬁ=
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. \] On combining Q@ classes of students having | 9 ~KIDS does not spread through

k’_’,/ average marks 28 and 40 respectively, the overg) Choose the most appropriate answer from (he
average obtained is“j{(i) marks. What is the numbey options given below: »
of students in the ﬁrs!vcl:\ss il'the sccond clags has (A) :’:r‘«‘ﬁ’;ctd ;nothc; to foetus t 5<
(B) andshake with the patien a
;:lrm;;n;;t 40 &f’m‘g ai are) Al ) 9 -, (C)  Transfusion of contaminated leO;i
# wifor R QU (WiW e A 37 30 R i 30 B afg ([?) se (zfmfcmd syringe 3
Tt T A 35 o §, 4 el 7§ Ot A ey f:I)DS ((g}%'o" nt d"m;;p-:?,#fmé,
b ﬁﬂ%ﬁaa%mwﬁmﬁbmmmm
({\) 150 (B) 130 (A) mmw C
Sl @ 10 @y v oafen & e e
(E) " Question not'attempted / 31Taftd wy . - (C)  EshIHe Tk 1 T =
_ t T o) wxfegi@mEm gi
17} A sold a piece of i:md to B at a gain of 20%- andE:J (E) ﬂgﬁﬁﬁ’s{‘ﬂ' |
~ BsoldtoCata xzam ?f 10% . If C paid ¥ 2,64 ()(}(}"‘-"r‘{ﬂ\l Match List-I with List-IL ?
for it, at what price. wsuld A have purchased it? ':d List-1 L;st-II
Aamﬁ?*@maﬁzo GWWB@F%‘?{@IB!": (Type of (Source ofwaste)
7 10% % ST % | C e aﬁcw&%mwt-— waste) _ é?:;:
%%{Q T 2,64 000 W?AA %@%ﬁﬁm: a. Pen Drive L Hospital waste
qr7 e ‘j b. Used syzringc iL E-'wastei?
(A) %1,70,000 f” ® 22500 [ Nt ezi{ . Kitchengwaste
(C) T2,20,000 (y (DF ¥2,00,000 e o
(E)  Question nof‘gttempted J WW{ —_: d.  Vegetable IV.  Plastic miterials
:g:} e peels . i\’
8  The gland that secretes insulinis _______ and\d -1 =11 @ gafoa Sy & :
prolonged low sgﬁg}geiwn of insulin leads to:j ;xd} |qHt-11 (SWQI'E
[ a (erafyre v wa’rerk}\
Choose the most jappropriate answer from the ] j . m?) _——

options given below?
(A) Pituitary, DiaBetes

G
é

. ﬁtﬂir(gﬁ) a
(B) Pancreas, {fiiﬁelcs : c. JEF A 11, \'Fﬁfﬂt@it K830
(C) Thyroid, Go_u? , :ﬂqqﬁaq._ 4
(D) Pancreas, dgu;t ﬁifm wﬁm‘ O3
(E)  Question not attempted 2 3fit d. Wi HRed  v\enfew
a?uﬁxmgqﬁp{—qqaavr Fdl B _._——’—-"' %‘ Choose the most appropriate answer trom the
©oplions given bdm\
mamﬁf op
i~ - WO - - .
) faeged “‘"{5" I U -, be LoV, do Il -~
(B) T, HiHe (€C) a-Lb-lc-1Ld-1V E‘\\:
(C) 9UEs, '"33 "%‘“) (D) a-Lb-1V,c-lLd-11 W
(D) H=ERM, "133( UL ] (E)  Question not attempted / 373 n-
E)y Iaf@gg '
" > 3 itd..,

kM| ¢
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11 Palash forest is Not foung in which of the | 14
following regions of Rajasthan?

Choose the most appropriate answer from the
options given below:

In the normal human eye, light is focyseq on;

Choose the most appropriate answer from y,,

options given below:

(A)  Ajmer (B)  Udaipur (A)  Retina
(C)  Jaisalmer (D) Alwar (B) Iris
(E)  Question not attempted ,
e '%mmm%mmﬁ@] (€)  Lens
T S & o (D) Pupil
Freafifes %Wﬁﬁmmmmﬁi (E) Question not attempted
(A) 3 (B) AR :
O Imain (D) e AT e 3 3 Wb Had grer _
€) i@y Freaferftes foredlt i & wrarffires suges soc .
—_— ~feafrrea
12 Atthe time of integration of resent Rajasthan, jpysf= A4 L -
P Jasihan, ifs)
the first phase, which was the first Eroup to bey J’ (B)  armsfm/afeeriiant
formed? ‘ R J Y &
, AT © W
Choose the mose appropriate answer from th’é: o :
options given below: T D) 3
(A)  Rajasthan Union. E.. (E) sruRawy
() United Rajasthan e
(C)  Matsya Union b ) _ .
(D) Greater Rajasthan I’:US Select the option among the follomng against
(E)  Question not attempted ab-l which regular reﬂeqtion will take place:
maihuml a amE ol l:}q“ma E';'n[ lm' “?.mﬁ’ - Choose the mogy appropriate answer from the
Freafifta el f &t ratfe swgm g, 713 optionsgive below: |
(A)_ Tremgfier (B) AR T NS (A Piece of paper
E)) m“f.;g D) ﬁ\z'(_ & :j (B) Polished Smooth wooden table
( 2 N (C) ‘Cardboard Surface
13 Who was the first Rajasthani to be awarded the"j (D) Chalk Powder
Paramveer Chakra? . " tlr 1 | (B)  Question noy attempted
afe answer from
Choose the maost approp ﬁq%m ﬁ& | =
options given below: o R w Y _ﬂ.iﬁm@ R frafi
(A)  Shaitan Singh (B) Piru Singh AL
(C) Surendra Singh (D) Ved Prakash freffe ﬁ%ﬁaﬁﬁmfmmavgmmga,
E) Question not attempted . y
(mﬁz) TF @ FenfE g ar gy TR @ () T\ |
» DR __B) Mﬁymﬁm@
Fawfifia fieredt & watfers g awe g (©) wHaE s,
W) fmfie ) i fire i TS
C) Hezfiw (D) == g

(E) qafawg
KIM| & ;

() rgERaws
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Which of the following is an M&.‘. Statemeny
with reference to light?

Choose the most appropriate answer fron, the
options given below:

s .
A l_§/ )

A person used to save 10% of his incofnef Aller

two years his income ingreased by 20% but he
could save the same

. e amount as before. By how
(A)  Two mirrors inclined to cach other give ueh pere

single image. ' el percentage has his expenditure increased?
\(B)  Splitting of light is known as diSpersim,‘ U sufen s I E D BT yR—— ) 3y o a2

{C) Incident ray, reflected ray and the normal sty
drawn at the point of incidence o the

reflecting surface, lie in the same plane

SR 3T 20% S 2118 ot v v ey
nﬁrwwammaéwvﬁmﬁ

(D) Regular reflection takes place from shiny 5 T 7
and smooth surface. -
(B} Question not attempted : 2
N i A 24“’"’00 ...2..
ﬁ%ﬁaamitéaﬁq-mm%m{“m\ W B 255%
& ' - I
= C 2349 : 2,
P freredt 13 warth —_— — © B3% o nly
)_)m/ @—?«;G:I‘éﬁ 3N 37E D 3‘?‘;1{68 & s ':"-.J (E)  Question not attempted / ST T
L T oY)
(B)  aber =7 forsieh 81T weboh wperay 4y, FC ,
' (© R W&ﬁt %“/H;Z @ In a box there are thrge rows of toffees. The first
a;m R =T 747 - Cﬂﬁﬁfﬁ\(?fﬁ) #== row has 60% more toffees than the second row
: - T 8 e § R 8 %1\,3%( < ﬁ and third row has 40% less toffees than the second
% Frafim THHRT I Foreelt mag & | vt .
a2 o s ':"-J row. If the total number of toffees in the box are
(E) i@y

96, then the number of toffees in third row are:

17 With reference to laws of reflection which of the

following is the correct statement?
Choose the most appropriate answer from the
options given below:

T Sl 3 S ) o i 8 el R e
i - ~
: 60% sftrs anfy & 3 ettt am & gwd F 409
LA T R AR I T v 96 2, W e
—— e ——_—

(A) Angle of incidence is always lesser than : T 3 Y Y e B
the angle of reflection. . (A) - ® 12
(B)  Angle of incidence is always equal to the | “
angle of reflection. ~ (©) 15 JPY 18
(C)  Angle of incidence is always zero. (E)  Question not attempted / STaRe Wi
(D) Angle of incidence is always grealer than
(E) gz:s{t’ig(:: ::;f :ﬁz‘:n;z;i 2&, The percentage difference between a% of b and

mjﬁqﬁ%mﬁﬁmﬁ@ﬁﬁﬂ?ﬂw

b% of a, is:

b & 0% T &1 b H IR Wiy A .

Freiferfan faaedi i & warifires 390G L

(A) T F1 W mﬂmﬁﬁ? %| (A) (@)% BT 0%
| . o e ngm o (©) (%)% ) 1%
(C) 3TTvad vy gaq Y[ &l 8l Py | -
(D) WQW o AT E (i) Question not atempted / AT W
(E) s s | | Contd
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G 40 litres of a mixture of milk and water contains | 25  Bisalpur Dam has been constructed on which of
rd

(A) VitaminB,
(B) Vitamin B, o
(C) Vitamin B|3 |
(D) VitaminB, O
(E)  Question not attempted

(E) Question not angﬁgpled / Cﬁjﬂflﬂu’ﬁ

25% of water. 10 litres.of water is added in the the following rivers of Rajasthan?
mixture.” The Pemcmiﬁc of milk in the final Choose the most appropriate answer from the
mixture is: \.5 options given belowt™
u st e 40 ferze 35 1 25% 1 25% 9 & for (2) Lﬁm river " B)  Saraswati river
7 10 foree gt 3it firetrirtharen 8. 2 o et fysror - e
Feua bIGHOES (N ¥ (C) Chambal nvcr" ;( D) Banas river
(A)_ 70% (ﬁ} 65% (E)  Question not ,‘mgmptcd _
=3 (/ 60% . (D) 75% ' mﬁﬁﬂWﬂﬁmﬁ 97, i:maw WJ
(E)  Question not attempted / i war 1wt o o 22
y % ﬁqﬁ:ﬁm forareai WHEW:‘ ITYE T
2? The average age of a husﬁand wife and their only s i G W?ﬁ = *
T child is 22 years, ch years ago the average age t’fﬂ i» (B) . :
of husband and wife Wa$ 26 years. The present | 4 (C) TEEA [ M i
ageofthechildis: = () wqEiwmug
(A) 4 ycars (B) 3 years ! O
(C)  2years (D) 5 years '53.[} Where is Pichola |a£e f Rajasthan situated?
(E)  Question not attémipted ' ) (A) Bhilw '
' hilwara (B) Udaipur
oy, s ~ o
q’éq'q-f‘:}qj ;&ﬁaﬁ’r a@a;}z;:;i%lwaé  (C) Banswara (D) Ajmer
e 3?{5— A i m (E) Question not @vqempted
Maa& ) 3 Ly Toreur S} oo Hiw el Rua &
© 29§ gj‘) 58 0 A feEm Fwa-;/m
(E) wfaws E_. (C) ATt N(o) i
(E) Iofaws oy
@ If the ;c:s: ;:;xce of :n arti J:le 15 80% of the Se1ling e - ] ‘
price, then the profit percent is: T S ;
Qﬁﬁmﬁmmmu@d - ﬁmmm 80% 21 In camel’s milk whch) of the following vitamins
& Framr v s — “ s found in lowest aggount? i
(A)  22% ,39,)/ 25% j ‘Choose the most dppropriate answer from the |
(C) 30% m) 20% L options given bCIO\r\ ;
— :
-
w

24 Meja Dam is located imbwhich of the followingi'
places of Rajasthan? €2

Choose the most appropriate answer from the

options given below:

(A) Kota %(B) Bhilwara freferfae 5 @ 32 ¥ qu 3 frw frafim ﬁ@‘
(C) Udaipur  [(D) Tonk ' amRde N
(E)  Question not atfempted Fr=fefas fraret h watfaes JUYTH I T

frefafiag i & gorap s fFe T wC e oty | (A) fefimn, g
(d /}B)/ f&‘aﬁﬂm N

ﬁwﬁr@aﬁmﬁa‘b‘aﬁbﬁmmﬂﬁ ©) frifimn,, c\l
(A) @ %(;é’)/ ferargt D) frafimp, ! =
(€) z&q (D) 2 , () argafa wu

(E) afauy | ]
KIM| ¢ . - | Contd..
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b Animal husbandry does not include:
Choose the mosy appropriate options from the
given below:
(A)  Poultry farming
(B)  Zoo Management
(C)  Fisheries
(D) Breeding of livestock
(E)  Question not attempted
AMGLSER: | T R:
frfafas Rt 4 waifae Iagw e =3
I
(A) RERTAISCT
(C) o 3 (arfeerad
(D) Y(u & 5o
(E) yafaws

29 Which of the following statements is not correct
about camel?
Choose the most appropriate answer from the

options given below:

(A) Vitamin C is not found in camel milk.
(B) Bactrian camel has two humps.
(C) Camel hamp do not store water, they are

full of fat.

(D) Dromedary camel has only single hump.

(E) Question not attempted

ﬁmfaf@'ﬂﬁ&éz%aﬁﬁﬂw-mwm%?

ﬁﬁ&mﬁﬁﬁé@w@

(A) ﬁ%zﬂﬁﬁzﬁwﬁwmalv
o '

(B) A S F AT

£ m%mﬁwdﬁﬁﬂmﬁw@‘ft

e & =
) It 3z e T I I

30 Laxmi Niwas Mittal, bom in Rajasthan is B

famous personality in the ficld of:
Choose the most appropriate answer from the

options given below:

(A) Sports

(B) Science

(C) Industry

(D) Medicine

(E) - Question not attempted

i e firre, ey sy arorear g 8, A1
@ aT e

St et i & warHfire g SECG-
v
08 fm
Cp) fufe
'C'UE) SrafE v
—

1: = *la Arun, an artist born in Rajasthan is from the
ield of :

pel_h0OSE the most appropriate answer from the

:yptions given below:
EA) Kathak dance
jB) Poetry '

%eedC)  Folk - Pop Music
jD) Painting
OE) Question not attempted
TS H A= 1 ST R 8 @ Wil $
P et 8 warffres e ot
AY T T

® s
(€) -9y wifta
(D) Tamwem

(E)

gt wx
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https://www.whatsapp.com/channel/0029VaEM4nU9sBI6pS9evN2a

-

@ Chitrangda Singh, an artist front Rajasthan is /32,‘ Which of the following vaccine is used for

most famous as a/an: : broilers in poultry?

Choose the most appmprinrc answer from the Choose the most upproprlgtlg answer from the
options given bcIo\J options given below: >

(A)  Actress f" (A) Ranikhet Diseasc Vaccine (F strain)

(B) Musician l‘ - (B) Ranikhet Discase Va;:éjnc (RyB Vaccine

\ 5
{C) Sculpture “(‘\{' ' (C) Ranikhet Discase r\/laccim:, (F strain
(D) Painter - booster) e

(E) Question not ﬁucmpt’cd (D) Marek's Discasc Vaccine

Wﬁﬁmmﬁg fovw 8 3 wratfire (E)  Question not attempted
et At e e s o e et e
ﬁqﬁmﬁaﬁﬁ%mﬁmmmg} I .
EREESNERE] PL) i e febea
(B) - sty {:\\i ' Qo (A)  ToirEa A @ A (RRA)
€ iy R @ chawimmdw s @
((Z: mﬂg;‘) FE ©) uﬁéﬂﬂﬂﬁﬂﬁ(;’éﬁgﬂ)
4 < T o TR T T T -
Which of the fJII'?OWing is correct about F:: (€) Srgeha s g::
::::;s::::: 0 ‘(::l'illarck s disease vaccine L @ Which of the following va%;i}le is given on day 1
Choose the mastf}}upropriate answer from thq_: - inpoultry industry? Ci‘l
options given below; A Ch(_’°5° ‘T‘c most "PP'OP_r?fée answer from the
(A) Intramuscularly in thigh muscle —j options given below: .
(B) Ineyes witﬁ:u;mer E W (A)  Fowl Pox Disease Vageine
(C) By scratchig)gt :j (B) Ranikhet Disease Vgccmc
(D)  In drinkingiwter 7 - (€)  Marek’s Disease v ﬂGcinc
(E)  Questionn é}iﬂtcmptc q '\_‘ / (D)  Gumboro Disease V'acjcme

W ofargi & m‘@; 1 HF FN &Q IR T (E) Question not allcmpled

T # @ W ) atw by g T A B9 Ao ek ot e e
Frferfiaa freredt § & watfass suges 3o g: Frfefre faemedt & 3 warfires g g
(A) sty v & st ) Al & (A) Wmmﬂ‘\mmm
(B) M%mmj'{s?f@'ii | (B) TREAIE AR
(C) GEF .4 (C) T A & A ::«
© HHhi (D) TERImEAE
(E) Wﬁvﬁ’ (B) rafa ux ::“:

KIM| ¢ 2 8 [ Contd...
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Jo

37

Tq'\_u Y (B)  Ramdev j
() Oo,s:a,n‘ (D)  Pabu ji
(E)  Queston not attempted
ﬁﬂ%%aﬁﬁmmﬁvwftwfhac
Freaferfiam friedt 3 & wartfires swgw o
A T SA (B) TS
(©) MW\ (D) s
(E)

Which of the follm\
10 Rajastha "
Choo

ingisnotincluded in Panchpir

s¢ the! mm! appropriate answer from the
options giv cn belox\
(A)

Identify the correct statements given below: ;

a. Ka!lap, who displayed exceptional braver,....
and courage during the invasion of Chittor™
fort by Akbar, is popular as a four handc’;-
folk deity in Mewar region.

b. It is bélieved that even after Kallaji w
beheaded his torso reached Rundela whil
ﬁghtmgi the Mughals.

‘ﬁ Nne

rarraa u_ﬁiu.

AT

"

-

c. Kamadia panth was formed by Kallaw
d. Pabuﬂ is worshiped as the God of ¢

in Rajaéthan
Choose the “most appropriate answer from th

options given below: .
(A) bcdguly (B abd only "y
(C) a,c, Qiny (D) & b, ¢ only u

Questxon not 8ttemptcd

e F il Wild%

(E)
ﬁﬁﬁ% i 1 TE m mﬁa&t
ax
""545"* Z”NFT sramare
framat a1, ﬂawéaﬁanmﬁaﬁsﬁaﬁw
il At R FEA &
b immm%ﬁ:mmmw i
. m&g@nmﬂgm Bl
o W“*ﬁ?@ﬁ%m_@@ﬁﬁ_
ﬁﬁ:'aqab?i: dﬁﬁ a8 by 0—
28 aﬁaﬁf%:d (D) F4 a,b¢

g s S A

Who' was the fnmoqufolk singer during the
princely movement of Rajputana?

Choose the most apéﬁprlate answer from the
options given below: (%}

) -

(B) Chand Bardai 2

(C) P.K.Mishra
D)

(E)

Rana Bai

¢
.Ganeshi Lal Vyas

Question not at;e?nptcd
¥

TR ER A ¢y

ﬁwﬁm&mﬁégﬂ&mmmy
(A) TomER (B) <e@war
) 9% fien Mﬂﬁ:ﬁaﬁmw

(B) Sufaws |
£~
Lot
Which of the followihg is most appropriately

N
connected with CARIgh HEEK?
Choose the most ap;ir%priale answer from the
i

options given below:

(A) Goat ;?:

(B) Sheep -

(&) | Poultry E:}

(D) Camel N

(E) Question not n\gnpted

frafaflas & & @@ @ - fnfle (carl -
NlRBHEEK}&@W#wgmb
‘ﬁnﬁmﬁmiﬁmﬁwmmaﬁ
(A) aw E "

(B) W¥ (

©) FHFe i}

(D) ¥ -

(B) rgafa s

[ Contd...

FAE


https://www.whatsapp.com/channel/0029VaEM4nU9sBI6pS9evN2a

GD Which of the following is an important grass used
~ asanimal fodder in Rajasthan?

Choose the most appropriate answer from the
options given below:
(A)
(B
©
(D)
() Question not attempted
Frefafes 3§ & womm § oY SR & forg A <t
RRERIGERUE TGy
ﬁmf‘amﬁm‘rﬁ%mffba;mmgi
(A) " @Rshnr dedw)
®) A
() ARG/ (T T
©) T (‘?ﬁme’ﬁ@)
(E) Ra¥H

Sares (4lbiz=ia lebbeck)
Peelu (Salvadora sp.)
Aradu/Maharukh (H ilanthus excelsa)

Moorat (Penicum turgidum)

[

@ The term pastoralism refers to:

Choose the most appropriate answer from the

N

options given below:

(A)  Rearing and herding of animals

(B)  Hunting and gathering of food

(C)  Farming and cultivation of crops

(D) Trade and Commerce

(E)  Question not attempted

Prefesfiam Faeredi & & rarfires gages 3 2

(A) S & qrer-arT AN geET
‘} (B) T = ot e =

©  wifif @ i et s

(D) =R Iy

(E) i@ yw

41 Which of the following animals are commonly|

reared by pastoralists in arid region? -
Choose the most appro’pria!e answer from the
options given below:
(A)
(B)
(&)
(D) (
(E)  Question not attempted
mmw%iﬁmﬁmma
aﬁaixmﬁm’tmmﬁv
Frvfeis et & wraffies g s
A) gt
(B) =@ v nofirt Y

_/(C),- T A
(D) weh st e

E) sqefayy

Pigs and Dogs
Ducks and Fish
Cow and ant

Cattle and Sheep

Uurukulslara naﬂar

Which of the following soils is found in
Ganganagar, Hanumangarh, Alwar, Bharatpur,
Jaipur and Tonk regions of Rajasthan state?
Choose the most appropriate answer from tixc
options given below:
(A) Saline soil
©
(E)  Question not attempted

TEEH TR & TR, IR, ST, WA
wmﬁmmﬁnﬁmaawmwﬁ /
et &

frferftaa e A A wariflre soge s g
(A) TEURY () S

-

¢ TR A e

(B)
(D)

Alluvial soil

Black soil Latente soil

KiM) ¢

(E) Wﬂﬂ/ﬂﬂ

[ Contd...
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44 Which one of the following statements is not
correct about black sgil in Rajasthan?
Choose the most gppropriate answer from the

options given below:

(A) It contains c,?‘Qégh quantity of nitrogen.
(B)  Thissoil is fobrad in Kota, Bundi and Baran
_ v={
regions.
3
(C)  This is fertile soil for Rice, Sugarcane and

Soyabean craps.
LA
(D) Itisa Cheeka dominated 501l
(E)  Question notaﬁemptcd

ﬁmﬁ#@‘aﬁﬁaﬁ%mmwﬁmw
Y S

ﬁnﬁrﬁaaﬁmﬁwﬁwwgmmgﬁ; a0
> . . - €
\/LA‘)/W TR AT ﬁ“-ﬂszm Jafeera grar 81 4% “Project Tiger" campaign was launched in:
(B) a“e'qa'ra‘?a mﬁaﬂ(m %ﬁﬂmiwzﬁ%l = Choose the most aypropriate answer from the
©) T TF!TQE’ T iR w===| options given below:
RS ﬁ?ﬁ%i CG 4T Qi ‘:aaﬁm H AT ki
SIS Al oy W S BTN
(D) wﬂmwﬁ‘q&r%; - ﬁm%m;%ﬂmmmv
1973 .+ (B) 1981
E N@vﬁaw _M-KT !
. 4 = (C) 1983 . vl (D) 1971
O fd  (E)  Question pot attempted / 313?1&?!33
45  Where is the head office of Central Arid Zone :
Research Institute (CAZRI) in Rajasthan? 48 4 Which of the following conservation strategics
3 o not dir mi ipation?
A : do not directly inglude community participation?
(A) Jodhpur [~ ) Choose the mogt-appropriate answer from the
(B) Jaipur £ e options given below:
v == (A) Beej bachad andolan
)
(C) Dausa O oy (B) Chipko nevement
(D) Ajmer 4 i ) (C) Demarcatioh of wildlife sanctuaries
(E) QUCSﬁOﬂ not’fﬁﬁcmgted (D) Joint lnrc:}t {nanagement
b wed
W geurq (CAZRI) T (B)  Question ot altemp
T= Sl Fyferftrs & @ we ify W Afey ¥ wpaes
S “m%’ i & 39 QA
B) [%‘ (A) mwm@m
¥ ™ Ay fawen iy
(C) ;”4 (C) G ;wtmuu &1 Wi
- \/
(D) A C“j (") Wﬁfﬁcﬁ!mﬂ
() #AEE@q v () STERIE s
’ ' - ()
© 1 | Contd.,.
KLM| @

46

In some cases, pastoralists supplement their
income by selling

Choose the mostgappropriate answer from the
options given hglow:

(A)  Mincral rgsources

(B)  HandicraQ4nd textile

(C)  Gem storfcy

(D)  Modern gii'dgmq

(E)  Question fion altempted

Wmﬁ TR A e A
e e & watfs e 7 7

(A) @f-’mw[m
L ABy wEfIE i am

€) Wy
*= (D) mgﬁ?m(ﬁam)y
9 ©) aaafmm
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49 In which region of Rajasthan has the Amrita Devi @ Which of the following is not correct about camel
Krishna Mriga Sanclunry been developed? pox?
Choose (.hc MOSt appropriate answer from (he Choose the most appropriate answer from the
options given below: i . bel
(A) Pali (n) Judhpur options given below:
(C) Kota (M) Bikaner (A)  There are high chances of the disease in 6
(E) an;ﬁign not attempted : months to two years of age group.
i aﬁm"a‘ﬁﬂ? a}ﬂ:mw?’m (13  This mainly occurs in summer and rainy
< bbb 'aa;l%‘“ h‘al’fm 3!
¢ & - s . season,
Pt et 3 waifires sges s, ?
(A)  greft —BY— :'ﬁmlr (C)  Duration of the disease is 2-4 weeks.
(?) wre (D) sfwne (D) This is a bacterial disease.
(E)  3afm wy " (E)  Question not attempted
50 Which of the fo!lowing forests is found only in l:"-..._} - o & A i E T .
Mount Aby region of Rajasthan? .|""-IJ ﬁqﬁﬁﬁgﬂﬁw ﬁﬁmfﬁ'ﬁ'm IATF:
Ch?ose the most appropriate answer from the |= (A) 69 ER 23k % sy e & v i Ay H
Qptions given below: ! shrs TETET TRt
(A)  Salar " E : & )
(B)  Sub-tropical Mountain =t B 'q-g ol s fregd L
(C)  Tropical Thom :T.J © mfmiﬁm2~4 AHTE B
(D) Palash = (D) THamafaams
(E)  Question not attempted S (E)
i Sgafmws
mmﬁﬁﬁmww}i
& ﬁ.ﬁ R ¥ &} waif Sy, @ Which of the following is responsible for Tibarsa’
g > — . N
(A) "ER__ - "-'_ Sarra disease in camels?
BT s'ﬁwr%f%mﬂnqé%ﬁn g’  Choose the most appropriate answer from the
(C) Iwrwfesfg widen v ¥ options given below:
(D) Qe e Bacteri
] (A)Y Bacteria
(E) sqaf@aux et )
¥ (B)  Protozoa
r— - .
51  Rajasthan receives most of its rainfall from "j (©) N“"‘[""““ deticiency
monsoon. - "-'I (D) Virus
Choose the most appropriate answer from (e (E)  Question not attempted
options given below: - ¥ ¥ R sad an ¥ R Prafafva & 4 =)
(A) South West (B)  North Wesi IR R
(C) North East (D)  South East A Rrredi 3 & warife
(E)  Question not attempted : I ImR
T A gatfukadt  wwwr daw il 1
ThE  — _ () WAy
frfafa fawedl § @ aaffos soge s g () o ey
(A) zfamrafgm (3)  Ievafim» (1 famy
© wwgdf g g (1) sEala wu
E a4
(E) rgafa 12 { Contd...
KLM | ‘

[ R
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L &4 According 1o month wise annual calendar for | s¢
camel management and prevention of disease i
proposed by National Research Center for Camel

Who an
ong the following first used the term

Rajasthani
in 1912 iy the linguistic survey of

the best period for hair cutting is during . India for the |'lnguagc of Rajasthan?
Choose the most appropriate ; Choose t
options given bel li’l’ 7 answer from the he moss appropriate answer from the
SR elow: oplions given below:
{A) March and i , '
AR (A)  George Abraham Grierson

(13)  July and August (B)
(C')y  September and October
(1) January and February

(1) Question not attempted

George Helenski
(C)  George Femandis
(D)  George Thomas

i-g;;:ncrp; W%Wmﬁahwaﬁ; (E)  Question not attempted
mﬁm:%rq?ﬁqanmﬁwm%agmm mﬂﬁ@ﬁmﬂmmwmw
FRAFFAMIFA Y e w3 o v for e
Lo e R Ty 378 F
ﬁwﬁwf@aztmaamﬁ%;wgmmgi A @ i a2
mw m 2f)  Froafen et et s o
O Fmshemm . oy S
(D) S ST Ead (B) SRt
e N © dw
= (D) ST amyg
[ 55 S~ Which of the following statements is not corfect | (B) qufey=

about camel milk? .
Choose the most appropriate answer fromdhe-t 53 Wwhich of the following species contains the

1 - =y .
options given below: £ Insuli p lowest amount (%) of lactose in their milk?
ere is a very high amount of Insuli ‘ :
(A) Ther il Choose the most appropriate answer trom the

(about 40 micro unit/ml) in camel milk.
(B) Camel milk contains lactose about 3.8 tg:
4.8%. —
(Cy  pH of camel milk ranges 7.8t0 8.3. - -
(1)) Fermented camel milk can be uSCMH
Jowering blood cholesterol. D) Cow
(F) Question nol attempted (E)  Question not attenpted

facsfof # @ $2 % 71 H A AT | o A R

options given below:
(A) Goat

(B) Camel

(C) Water Buftalo

T
f N R = T

/
) A O sferan e &2
o 4¢ Wgﬁz (NIAIAET) Bidi 6
A *’m @mlm(ﬂm‘" Fraferfiara frared) ¥ & warifvs 0w IR
(A) ﬁwmﬁtgﬁﬁm (A)  wad '
0 arg#l '{!E‘Z/r" @) :
(B) ;zmquﬁwnssﬁw%mﬁ?*‘ a3z
o FzEeu@ pH @7 Hﬁ"},f“mg' - (o el
- A e o) e
(D) Sz o ffoaa U T )
# zqunft & aaar Bl () Aqufagx

| Contd...
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<N \\:{u was the first woman from Rajasthan (0 be | 61 Which of the following physical regions of
|
nTested uring the Indian frecdom movement? Rajasthan shares its boundary with Pakistan”?
(,hnnkl: the mose appmpriafp answer from the . 1 ‘
aptions given below: Choose the maost a[q?mprialc answer from the
(A} Nagendra Bala options given bclmv:I :
y . . -
@y Anjana Devi Chaudhary (A)  Eastern Plain Region
(CY  Laxmi Devi ,
(D} Rama Devi Pandey (B} Western Arid &923""’
“ °) Ouumm not attempted (C)  Aravali Region”,
i ‘ﬂ e ¥ A frrem & arefl (D)  South East I‘lntuu Region
’.I:ﬂ’, Y19 & 9499 q&‘lﬂ .
—— Eﬁ:‘mffﬂ (E)  Question not x‘ucmptul
'E’i‘.?;'%ﬁ‘mﬁ'fmxmmﬁba;WW'ﬁ PR
(A) TERA e st 2t = Frafefias & & omtm w1 A Amfers
(€) ey ft (D) T AR m%mmﬁm%
(E) &1 331’7?1’ - T
s . Frfefas fraedt § @ @atfis sage 390 T4
59 Which of the following districts had the highest (A) Tﬁm m v ‘f
population growth rate in Rajasthan dunng the 4
dcude 2001-20117 L ‘[}’/(B)” aferdt W ih
(.lmosc the most appropriate answer from the y®1 © ‘ma?‘ﬁ w_
oplmm given below: ' '!'—' (D) @.-' Té}
(A) Barmer (B) Ganganagar ] .
' (E) 313?‘!{{?1 a4 -
(C} Kota (D) Sirohi iy ot
(E)Y  Question not attempted . g
2001:2011 37_3313:' § Frerfarfa § @ TomaE I:% Which onc of the f()l{o\\mg, states does not share
e e it sSae gfe @ ga sifis o) P'_' its state boundary w1gh j{a_;asthun
mmqammm? Choose the most appropriate answer from the
‘/{22 ig; ferired pesfessl  Options given below:
( =, g ,l_
(};} \-gi-ﬂﬁ'«w deed  (A)  Maharashtra g
— L | (B) Gujarat ™~
<60 . Theé animals which give birth to young ones d!-: ‘ [~
=" (Kkieir own kind are called: 1 (©)  Madhya Pradesh,
Choose the most appropriate answer from the s (D) Haryana N
o‘gﬁons given below: :j (E)  Question not a(!t\gmptcd
(A} Oviparops dm ﬁﬁfiﬂ‘fbﬂﬁﬁﬁ?p\’@mm%m
(B) Invitro femlnzqq animals _ | ]
(C) Ovoviviparaous Wtﬂfr et 3 &
(D% Viviparous et frerel 3 w IUge L
(E )  Question not attempted )
g o st e dafedt @ 9w A 8 & \)M/IEHEB_ f::
Feed & ® T
Wﬁmﬁﬂmﬁmmm@ ©) TR N
(A) 3fETIH (B) ur3 frafer iy &
(C) HEgw (D)  wftayerE (D) @ H
(E) | 94 (F) orqafa W &) ,
KLM | ’ 14 |~(,nnld-.-
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Which of the following National Highway is
major highway passing through Rajosthan, whicl,
goes from Delhi to Mumbai via Jnipur, Ajier
and Udaipur?

Choose the most appmprl'an' answer from the

options given below:

05

(A) National Highway no-9

(B)  National Highway no-24

(C) National Highway no-3

(D) National Highway no-48

(E)  Question not attempted

fraferfed &/ #9-61 Ul Tommt e d4fg6

EF TSR ATl Y@ T 2, feeett & s 10

mﬁtsﬂtméiﬁ%@gﬁm%p = t;ﬁ

mﬁmaammm? 1

(A) U TETT §E&q1-9 a

(B) TS/ T Hed-24 13

(©) T T w3 1

(D) TS T HEAT-48 !

(E) afa 94 ) %-l
——

Rajasthan Road Vision 2025 was jrepared by::

which of the following bodies? LA

Choose the most appropriate answer from tﬁ__g_’

options given below: E -

(A) Planning Commission ::3

(B) Public Works Department Rajasfha‘_’_ .

(C) National Highways Authority of [ndia $

(D) NITI Aayog '

(£ uestion not attempted ‘

ﬁ;%%aﬁamﬁm%mmﬂ‘ﬁ“

2025 mﬁmm a1

refian et § waffe 3930 57

(A) drern T

(B) i fomtor faqor aered™

(C) wrda T WW

(D) AfgamEm

() Sqaa®q 15

KIM| ¢

Phe

AW

Capital - of - Matkys Mahajanapada win

Choose the maoxt appropriate answer from the
oplions given below:

(A)  Taxiln (13)  Faushambi
(') Videha (D) Virat Nagar
(F)  Question nol altempted

HEtH UREAA 4 Travel oy
feriferfian famedt 8 4t wratfira vaqm 70 74

(A)  aafacr B) Frmeh Y
((..,')‘ fZFZm ._.”) \ouckus
(1) wqafra gy

Rainfull received in winter scason in Rajasthan is
called:

Choose the most appropriate answer from the
options given below:

{(A) Mavath
. (B) Aamra Varsha

(Cy Phoolon ki Bouchhar

(D) Manas

(E)  Question not attempted

¥t g o T & € et aut F Fer e 2
Frafafaa faredt & & walfie suge so 35

AAr a3 (B) 3w a4t
(C) gaidrdlerR (D) wAW
(E) orfaftawd

Mukundra and Bundi hills are located in which of
the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)  Western Desert Plain Region
(B)  South Eastern Plateau Region
(C)  Aravali Region

(D) Eastern Plain Region

(E)  Question not attempted

Tered™ & fond siviifer & X g ok g
s T

mmmaammm@

(A)  uferh weryeli der
afator qelf wartia &%

(C)  swEel &

(D) i B &=

srqafta wy

(E)
| Contd..,
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68  Match List-1 with Liy.1y.
<
I~ List-1 Lint-11
[~ (Gland) (1tw Loentlon)
4 . .
a. N Pituitary 1, Kidney
b. (\1 Thyroid 11, Brain
c. C’ Adrcnn! UL Neck
d. Thymus V. Chest
%ﬁ:ﬂ&h{aﬁ 11 & gAfra Ay
f\ ;Eﬁ 1 ‘Eﬁ'"
~ Ctfn (Rera ¥)

a.f\lﬁggﬂ(xfrtm T
b.;_“‘ m@ e S
. O WA . wR
d. YEEWE—TV. o

Chogse the most appropriate answer from the

opgi’ns given below:

AR e forared & & waifies guges so:
ARy L b e L d - 1V

By1a-Lb-I,c-1I,d-1V

0 ltw?'rn:my chumbers are there ina normal human
hcu‘f[_

Chaoge the most appropriate answer from the
opliogs given helow:

(A)C‘“ our (13)  Three

(C ) lwn (hy Five

(K ) ()uuﬂmn not attemnpted
Wywmnmmﬁfmmm‘é‘"
ﬁqﬁfmfvmﬁnmmmmv

M R By #m
(C);Wié‘l (D)
(l':),fﬁjw;aﬂﬁ g

r lumeh beings have types of teeth.
I “hdode the most appropriate answer from the

l‘:'-d options given below:

¢ (A) Three (B) Four

(C)=fOne - (D) Two

W (E)I™Question not attempted

Pt o e 35 2 AR

C—'W famw‘t 1 & waifars 3uges 390 -

(B) =W

A D) @A
1 (E)Osaﬁ;'aw - 5’

dl

Q y | —

(C) a-IV,b-I!I,c-II,d-I p— /7;’,7/3”,-4,7&75/47 .
— l )

(D) \ a-Lb-1V,c-1I,d-11 24 Wh;g of the following is an example of physical
(Eﬁ Question not attempted / JITARA ¥4 ':‘ chahge?

™~ é—l Choose the most appropriate answer from the

69 HO"??J‘ many bones are there in an adult human : opnoﬁs given below:

be'( o — (A) Formation of curd

v - (B)E;Mcltmg of wax
Chg?’sc the most appropriate answer from “"ell"'-—l"" (C)  Browning of apple after cutting
options given below: (D) Rusting
U 9% 57 | 31t ) v frah gt &y (E) quuc?gx;;:t attempted

~ ﬁ:ﬂ%{ﬁﬁ -t ‘f\ﬁiﬁ qfta?h HT T IITEI0T
ﬁrwf‘aﬁnﬁmifé At uge o g: P g
(A'\ e mﬁ%mmmgﬁ
ﬂ* 206 ( A)Sa] T
(C)- \J 318 tim ﬁtram
AT

(Dy 128 (c)u‘mﬁ*mi“m‘wa
(E)Q (D)

Question not attempteq / HTafd vy
KIM| ¢

() 3“3’“&“ W

| Contd...
16
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73 Mach Lim-l with List-]].

. »me of
75  Ayushman Bharat a flagship scheme
e (Flemm” List-1n ("\I’mlcmlon) Government of India is a:wfl
* pldtm“"" I Medicinal yse (A) Programme to Confrol Pollution
b. S“'SE}H I Jewellery (3) Programme of llctﬂﬂl Insurance
srapH; ’ » of Flc od €,( ntrol
c. GrapHite L Penei (C) Programme ) )
d M - (D) Programme of Clmﬁ:tb Control
, Mereury :
Shoath g v, Tht.rmometu (E)  Question not atteméiéd
WW’WW”WWW ST ST, ST ST 0 sy v 2.
) T (v, (A) I e 3 |
a. ‘Z‘l‘éﬁy ‘ A : . By TATES T T g
b. e I (C) a1 =T 1 -
. TR ' - ’ (D) mﬁm Framar
: ! M; ~ 1. %’v L ) » £
' ;:'-' (E) wigafe wg 4
d. ol

wmmm ) Aty ’gj‘i (d

-
(_hoosg the" most appropriate answer from the | At what rate of compoung-interest per annum a

options given below: f_' sum of ¥ 900 will become T 1089 in 2 years?
— mﬁmaaﬁf‘ama%%qamwoomzamnz
fzu f‘t:z?ﬁ ¥ 3 gaffers )
= fao g aH ST SO T 1089 8wt 3
(A) a- mb WV.c-Ld-u = Pt (A) 12% .
(B) a- W; b-Il,c-1I,d-1 )4 C'*-J B) 15% c::i
i a-{I})-!c-Illd-[V e () 18% o
’% 8 L d -1V Lo B 10% peef
,b II, - + U - | . )
0 e ¢ B | wet (E)  Question not attemggd/mw
(E)  Question not attempted / 37af@ & )
=¥ .x Name the firg mammal (agjmal) to be cloned:
£ . . —
74 Which of, the following is not a property of ) Choose the most approp*r\ate answer from the
1als? ;_ 4 5._1 options given below:
metals? o _
. - {,’ st appropriate answer from the :3 (A)  Dolly o
Choos il'y.fn ost app 7t (B)  Meesha o
options given below: | k.J (C)  Keeto v
(A) Sonarous (B) Ductile (D)  Raani o
(Cy Malleable (D) Non Lustrous (E)  Question not attempted
- FA faRy Sy vt wuy ;
: ! ted | ey R LU 0
® Quplonnotavempied P R 2 wraffres s e -
Fr-g1 argAl F1T7 | LAy STy I~ NS
T’TW’V" e i ©
S mm?ﬁ: B) iy e
oot it & wartfd 3G (®) s ~
e By © = o
(/4 m D ,(T:n o
‘) cf ?ﬁ ( ) k4 t
Mﬁ GLED) o
() ATPIAAIAA (E) orefa us <
(F) m‘*ﬁﬁ 3"" | 17 |

[ Contd‘"
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79

Which animal keeps on chewing continuously
even when they are not cating?

Choose the most appropriate answer from the
options given below:

(A) Snake

(B) BufTalo

(&)
(D)
(B)

Dog
Lion
Question not attempted

PR Y ST < e &, ety v s o v
T R e

ﬁfﬂf‘a&ﬁﬁw—ﬁﬁ%mf&w:{vgﬂ:mg&:
(A)  wl@d)

© F
@ wWw
(E) SIaf@ws

Which of the following method should be adopted

to produce a pure line in cattle?

Choose the most appropriate answer from th

17

1

80

)

Id lTEiﬂc

o R W e o

1d

Indirn Gandhi Canal project s Jocated in which |
of the following physical regiofis of Rajnsthan?

Choose the maost appropriate answer from the

options given below:

(AY  Aruviili Region

(B)  Eastern Plain Region

(C)  South Eastern Platean Region
(D) Western Desert Plain Fegion
(E)  Question nut attempted

¥R v e fvrr aears & faeffan #a
Ry sivitfers, g # frge B
ettt Pt # 4 watfirs saqe 207 4.

(A) el )
(B) Nz &
(C)  aftror opeff ety v

: (DY aferd} yrraetta Bz a1

(E) afwug

In which place of Rajasthan is the Chulia waterfall
located?
Choose the most appropriate answer from the
options given below:
(A) Kota (B) Karauli
(C) Chittorgarh (D)  Alwar

"(E) Question not attempted

Sfer st T UorraT ge ¥ frm A g feara 27

ﬁm%ﬁaaﬁﬁﬁﬂﬁmﬁwzﬁmm?

options given below: Lo ﬁ' (B) e

Tt - fardiemg (D) 3
(A) Inbreedmg sl (E) i
(B) Outcrossmg P '_"u.a'_." i
(C) Cross brcedmg o :3 Which one of the following districts had the
(D) Ou!brccdmg .| I lowest population clensity according to 2011

T census in Rajasthan?
) Oucmxon not attempled 1 Choose the most appropriate answer from the
afrait 3 g 91 W 6 % fere Frerfrfiaa & ] options given below:
aﬁ:eﬁﬁ%wmmﬁw (A) Jnisalmer (B) Pali
ﬁmmﬁ%mm (C) Tonk (D) Jalore

m‘ﬂﬁ (B) Question no! attempted -
ey 2011 1 T & ST m“u“’j’“‘”
(B) g " 3 P FreY o) TR 1 e
(C) d&m ﬁqﬁtf@ﬂmﬂmf"ii “(;)"a“:ﬂgi"
(D) afE:yomT ,Uﬂ/ .
E) st € o
on
KLM | ‘ 18
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[ R3 I'he

Sai sl

[

KLM

U income of P is equal to 10% of Q'S
leavt T, ;-Umx-\., which when divided by 6, 7 and &8 107 of ncems ¢ S Mhat 18
Y 1eaves a remainder ¢ TS T income. If the income “f”_g is T 2780, then what 12
3 *—QWWv:-vr:b a‘\‘:%‘qﬁ“w‘“ the ‘ncﬂmCOfQ" ¥
f TS SN, o p o) 3T 1 .20%%, Q 1 31T ¥ 1 0% % =T R AR
£ A 168 N p A aT T 27R0 2. mo‘-ﬁxmw%ﬁ
L2 .5 Lt; ‘ ; (A) T56R0 . 4
\ S O o (B TR0
§ ([?, 171. - (C)  T5460
(F) Question oot atle'nmed m L] (Dy- ¥ 5560
31 o an ) (E)  Question not atterapled « AT ¥4
by TE‘:“ Crage cfhrsx s mu{hple\ of 12is: :
F TOY ghy
(A) sQ T *h L 89  The new name of “Indiriaﬂ_Rasoi Yojana™. the food
(C) 24 ‘*‘aég\l . ! security scheme in Rajasthan is:
(DY a8 - "y
(E) Question no e Choose the meost appropriate answer from the
tat or’*'rm ’ :
. ¢ empied > b options given below:
~ i o, oMy
,83 AN amouny of % 23.500 is 10 be dmded amongst JJ (4) Mahatma Gandhi Rasoi Yojana
Al 3 ) 1Yoj
B and C i the rauo.ng L1, 15 Then the I:E () Al Rasoi Yojana
share of C is- ~ 5_' (C)  Shree Annapurna Rasoi Yojana
223, *OO?T’T!’T?T:\,B#NC¢W—‘—‘—%CTS (D)  Rajasthan Rasoi ¥ojana
mqmmmﬁ Fc "-'FTT%R:TE‘?T!T U (E)  Question not aneim;gted
LX) 6000 (B}, T 5375 g R drEm “(&““’ﬁm ¥ T g =
(C) T7833 (D,W, 24700 P_.. mm%
(E)  Question not attempted / JITAMRA w0 T fe iiﬁﬁmmmm
= poted (A) HETERT I T A
8_6/ The LCM of two numbers is 36. If their ratio ST (B) e wir A
[
‘ 1 3, then. their sum is: ; LA y = Wﬁ TETS QraEy
wﬂwrma:ragaqmge WAR TR (D) oo i ey
A 2 - 3 2, A1 I AR Fj (B) qwfmwy
(A) 24 (B)'"'i 21 b | 4
e 30 (DZ\ r -:-390 e Gf)vcmr.uem of¢-Rajasthan, announced
(E)  Question not attempjed / i v ) reservaton for women' in Panchayat Raj
3 "'-‘ Institutions, The percentage of reservation ic. 1
@ The population of a place increased to 84,000 Tﬂ Choose the mosy appropriate ANSWer from the
2023 at the rate of 5% per annum. Then what will Options given below: :
be its population in 20257<} \ T TR NIt ot S oy 3
forft Tar <1 st 594 afead €1 @ w 2023 § fmmwﬁwhm«ﬁ%mmmmm
)
84,000 #1 T 2, a1 707'5 H 36 SAHEA L
P ﬁnﬁﬁaﬁmﬁﬁﬁmmm .
(A) 88420 92610 (A)  25% s,ﬂ’f 33%
2 3 - .
) 88, VN 03600 (C)  S50% O 20%
(C) 91,560 (D)":l ' - (E)  Question not nueinbtcd / ATl wy
(F)  Question not attemptad / 3T
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i The winal name of which of the following canals
was Rajasthan Cangl?
Choose the moxt appropriate answer from the
options given below:
(A Hanumangarh Canal
() lodira Gandhi Canal
(Y Anupgarh Canal
(M Ganga Canal
(Y Question not attempted
Prfofea TR A B T S
NEESHES m un
Fraferfn Rt & & watfrs ITGH I
) TRETR TR (B 3Fewmﬁm
) IR (D) imaw
(B rqafa gy

92 Where is Rajasthan geographically located in
India?
(A)Y  North-Woest {B) South- East
(CY  South-West (D)  North-East
() Question not attempted
Tsreur sitmifera 3 & s & et e ¥
Ay Ieafam (B) fmrgd
(©) Mwafem (D) I
() oaRd '

93 Select the state which shares its border with the ]
state of Rajasthan.
Chovse the maost appropriate answer from the
options given below:
(A) Unarakhand
(B) Chhattisgarh \
(C)  Himachal Pradesh
(D) Gujarat
(E)  Question not attempted
mmﬁgﬁqa’rmﬁm%mmm
R R
ﬁu%ﬁaaﬁﬁaﬁﬁémf&mwgﬁm T
(A) ITUET ~(B) THER :
(©) FamawRw P T
(E) Nﬂﬁf@ Ty

KLM| ¢

94

r'ukul rl’arana@ar

(U

20

Krishna Poonia, a woman player from Rajasthan |

belongs to which sports?
Choose the most appropriate answer from the

options given below:

(A) Boxing (B) Badminton
(C) Cncket (D) Discus throw
(E)  Question not attempted

@mmﬁ@ﬂﬁmm frr

ﬁqt%f@af‘ﬁwﬁﬁnaffwaW?
(A)  sife B) asfiza
© frRe D e o

o~
(23]
~

JoRa o

o among the following sports persons, from
the state of Rajasthan, represented India at Paris
Olympics in 20247
(A) Gajendra Singh
Maheshwarni Chouhan
Muskaan

Yashaswi Jaiswal

C

©
(D)
(E)  Question not attempted
ﬁhmminmm%mm
Sﬁ?f_ﬁﬂl(&_ﬁmmnﬁrﬁfhamqv
(A) Tz fie (B) v%wfra’tm

€) T=H (D) TyE IHaETS
(E) daRaux

Who among the following was appointed as the
Deputy Chief Minister of Rajasthan in December
20232

(A) Manoj Baghmer(B) Diya Kumari
(C) Sumit Godara (D) Jogaram Pate]
(E) Question not attempted

ﬁmmzﬁnﬁﬁﬁﬁmﬂgq_@@
frg o
(,\) !ﬁﬁtm M&mgwm
0 gmriem (D) SmWEES
(E) FFRRA TR
| Contd...
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97

ﬂ wﬁaﬁma‘m -

98

kKim| ¢

The main problem in the agricultural growth in
Rajasthan is:
Choose the most appropriate answer from the

options given below:

(A) Limited availability of fertilizers

(B)  Erratic rainfall

(C) Limited number of tractors for agriculture
(D) Very small number of farmers

(E)  Question not attempted

TR 0 o e o 2.
ﬁm%ff‘@afamwmﬁ‘mmmgﬁ:

(A) mﬁ@ﬁﬁaw

©) ?ﬁiﬁmmﬁam&mu
(D) F&mz&aﬁamm
(E) ruf@wx

Where is “National Research Centre on Camel’&
situated ? -
Choose the most appropriate answer from the
options given below:
(A)  Udaipur

(B) Bikaner

(€
(D)
(E)

Mount Abu

Jaisalmer

Question not attempted
"I I SR F7 et o fewa &7
Frferfin et if @ wratfiras g SO
(A) TAR

LUy e
(©) "=
(D)  Srgemmr

l‘ana

GIUKUIl 14d

G

100

—

(E) wqaf@yg -

21

20

In Rajasthan nuclear pover plant is located ar
Choose the most appropriate ansuer from the
options given below:

(A) Tarapur B) Narora
(C) Rawatbhata () Kalpakizm
(E)  Question not attempted
mmwmmmﬁrq%
(A) Wﬂ (B) :;Ty—q
A TG (D) wm
(E) srAfA 94

Name the State Bird of Rajasthan,
Choose the most apprapriate answer from the

\&[} options given below:

(A) Sunbird

(B) Dove

(C)  Great Indian Bustard

(D)} Peacock '

(E)  Question not attempled
TSI 3 T Tl 1 T G5
(A) w=d

(B) wIEd (39)

(D) @K

(E) il vy

Who built the* Taragarh fort” in Bundi?
Choose the most appropriate answer [rom the

options given below:

(A) Rao Raja Bair Singh

(B)  Adinath Ji

(C)  Maharaja Kumbha

(D)  Raja Aniruddh Singh

(E)  Question not atteipted

4 i “qrrg e foedh g AR TR

Freaferfira faemeal § ¥ watfs JUge ST T
kv AT AcfiE () onfe Sl

(©) wERErEen (D) o it e

(15)

At

| Contd...
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102

103

Muteh Last-Fwith w1,

List-1 (Persan) Lint-t1 (Aren of Wark)

no Komal Kothmyg 69,
{

.
[

.
Y
URIRE R RN mm«} Yﬁ“m Fh

?{'ﬁ-n(um&ém

Stoging

b, Shaitan Singh Jourmnlinm

¢ dagiit Singh Folk culture

do U Ihabarmag Bravery/Valour

Shima

T-1 (mafi)
ac EINA Ay .
b, A3 frw

ﬁfarzwﬁmﬁﬁf

a- n,b-l,c-t‘;",d.m

a-1Lb-1v,d 7 .

a-1Lb- Tl el - 1v

Question not atteppted / SSafaayg
l‘ai

Who established a *:ccl éallcd

and sinless)? -

(D)
(E)

*Nishkalank’ (holy

Choose the maost appropriate answer from the
options given below: s«

{A) Saint Mav Ji f:“'*
(B)  Ram Charan Ji' )
h 4 . M 1 y Ji
(C) Mabharshi Nav§k3m |
(D) Saint Rana 1331;.\4
(E)  Question not attetmpted

Foreis; (afm ool e A duem
T e 17— | .
reaffiae et & gt swges s i

ﬁ.
p—
LN
3
—|

—
(DR

G(M/ Vho served ay the Governor of B

LA

aw

| 80

!

3

L4

,_,Uf)/ dq gra lf“
(B) 9 =T A lh.
() weftFaem o
(D) HATNAE. (v
) e

KLM| 4

22

Lajasthan from
Wy
2004 w0 20077

(A} Margaret A
(1) Pratibha l’;ti;
() Vasam l)nﬁhji'atil
(1) Prabha S(:x;;j
(E) - Ouestion nog attempted
2004 1 2007 TH AT 3 P FIEEE
.
(A) Tmirz ﬂr‘-vf!“‘
(B) ufag '11f2:-(.4
(D) Iy
(E) cqgaﬁﬂn{f,
-~

Who authored l;r4 book ‘Samta Darshan —\ur
Vyavhar'? 0

¥
Choose the mosUpropnate answer from the

Options given below:

(A) Acharya N%csh Muni
Acharya PEimod Muni 2z
Acharya \{Lsi:eah Muni
(D) Acharya TGM;
Question rg:éaucmpted
f}qm—ﬂ Frd 8 mﬁammw T
(A)  3ramd '—TW‘{TET? 2
() 3 m‘!f" "
(C) ST F”‘\:‘\%‘F“ N
L)p( ST Ferdt =
B

:ﬂﬁfrﬁ‘n( N

(E)
| Contd...
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e
a6 A shopkeeper sold two pens at the same prie
e pnce,

One is sold at 5 profit of 10% and other at g loss

of 10%. The overall profit or loss percentage is:

(A) 1% profit

(BY 2% loss

(€)Y No profit, no loss

(D) 1% loss

(£} Question not attempted

TH THAIW a’rm "ﬁmt@w i"ram%| w
10% F AN R e zwd 1004

110% B e 3t st &, oy
_fm amm%‘ﬁms:ﬁxm%
(A)  1%@am B) 2%af

© Famawh oy 1R
(E) sgafmws |
/’-\
1j/ An article is sold at a loss of 13% . Then the ratio
of selling price to cost price is:
T TE 15 % e o == st 1 o 36 feeg
SRS
e 3R T & I
(A) 19:20 By 17:20
(C) 21:25 (D) 13:20
(E) Question not attempted / 3IaRa T

@ Sushil borrowed T 6000 from Shashi at simple
R interest. He repaid ¥ 9000 to Shashi after 4 years.
The ra[é of interest charged by Shashi is:

et 2 6ooomﬂmm“mamw;a;
“ad e i @ ¥ 9000 o &1 T

wfergrer &7 2T & =TS _j@@,,.
L 12.5% (B) 10%
(C) 11.11% (D) B8.5%

g @94
(E) Question not attempted / syaftd

KLM] ¢

(1‘4—):) A certain sum of mbncy is deposited in a bank,
| which pays simple interest at the rate of 5% per
annum. In how many years will the sum of money
double itsell?

(A) 15 years (B) 20 years

(C) 25 years (D) 10 years

(E)  Question not attempted

e Rifira vl o ¥ & s Ay S 2, S 5%
srﬁaaﬁ #r @ & wrare s ¥ P ot &

cﬁmﬁa'g:ﬁ“@fml

By s s 0w

oo 2sad (D) 104
) sopkaws
L |
11 ich of the following is not a biodegradable

F‘Jwastc?

Choose the most appropriate answer from the

— ” .
options given below:

'_‘(A) Jute bag
"_"_‘ (B) Fibres of coconut
e

¢ (C) Polythene bag
—

== (D) Banana peel
— £

7 = (E)  Question not attempted

23

(B)  srqaia aw

| Contd..

PR & 3-91 S refeoi s g
)
mma%mMm?
(A) FEwdwn
(B) TRIAFW | -

A€y et dch (dmy
() %@mﬁjw \
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. y * t i d
111 Which Sflhc following discases ar¢ transmitle
by m‘r';‘r\
~
a. {u?cn:ulosis b. Influenza
c. @apcer d. Polio

112

ChooscOYhe mosr appropriate answer from the
oplion{é:;\’cn below:

(A) bandconly (B)
(C) dd¥hddonly (D) aandbonly
() é\ccnon not attempted

ﬁuﬁmaam ahaanmgmuaﬁa

¢ and d only

3‘1‘?\‘%”

a. ?@T&‘cﬂﬁm(ﬁﬂﬁﬁ)
b. ;9@@_

C. gﬁ{,

d.  ofem
ﬁ%ﬁggq%ﬁﬁ%mfﬁwwgmmgﬁ:
FaTbMc (B) Faacadd
(C) FaFadMd DY Faaasiiy .

(E) w1

N
The pr@ss of pastoralists losing their gnimals
and livelihood due to government policies and
modern development is known as:
Choosethe most. appropriate answer from the

optionsgiven below:

(A) DBeforestation
(B) Dékertification
Ifz_l\étoral m:mngrahon

(D) D!gtrcss dnven dtsplacemem
(E) Question not attcmpted
gt fifedt o sy fawma & FRor e
T m%gm st S = @ A shEn
m%‘
ﬁmﬁﬁn f%m‘?ﬁﬂwaﬁbmavgwmg&
(A) e
®) e
(C) FgrE ATaEd

A T e
(E) qua

KIM| ¢

23

113 Which of the following statements is not true
about Raikas of Rajasthan?
Choose the mns;wappmpriate answer from the
options given boioy/
(A) Godwar Rifikas mainly rear shcep and
goat, (m:}
(B) Dhandi is the settlement of Maru Raikas.
(C) Raikas are Ytraditionally, associated with
pastor'lhsl only as their profession.
(D) Maru Ra:”lggxt.q are associated with camel
herding. (o4
%ed (E) Question tiof attempted

£ Toem & gend an ¥ fefafaa § & PR

A frfafae et & & waffers I9ge IO

=@ TiSaT T g W 3R A qrerd 2l
g@mﬁaﬁaﬁﬁ

:_. (C) TUTA & § TUHT SAGHIT & Y G
o wma
E-_. (D) mmwmﬁi@@?‘ v

(E) awgafmw <

214/ On 23 September 2024 in which area of
Rajasthan the l:Siainik School was formally

j‘ inaugurated by t ¢jRaksha Mantri of India?

L4

i . Choose the moft-appropriate answer from the

._J options given bc‘!o{v

v4
|: p== (A) Jaipur lf} (B) Bikaner
e’ (C) Udaipur (D)  Ajmer
(E)  Question not attempted
23ﬁamzoz4ﬁ’tmwn%%vmﬁaﬁwﬂs
¥ A Fﬂ@ 3G | %

3 T Y & I
ﬁmww -
ﬁnﬁhﬁmﬁﬁﬂmﬁmmgﬁ
(A) KRN (S v (B)

(€) I/@E > (D) sk
(B)  orgafa uy
24
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(s Which of the following article o the Indinn
1t T .
Canstitution was muended significantly in the

year 2019?

Choose the most "I’I""’l"'"" answer from the

options given below: |
(A)  Arlicle 360 ' :
(B)  Article 356 :‘\4
() Article 3606 N
(D) Article 370 xi
(E)  Question not attempted
v ®fE @ @ ageae ad 2019 #
el ¥ A Gﬁﬁﬁmwﬁmw%) 2
mma&mmmgﬁ
(A)  STSE 360
(B) STTeRT 356 ;ji
(&) 3@"%3 366 (v
) HT=R™3T0 0 v
) omefaya

116 The New National “Education Policy of the
| Government of Indiaf}as changed the school
education pattern frm;:g:;} 0+2 to:

Choose the most apprapriate answer from the
options given below: & 4
mmﬁmmﬁmﬁﬁmaw
ﬁ?ranwra‘raﬂ _ Hamefmrmnd
ﬁwhf@a%mmnagaf&wwgﬁmﬁﬁ
(A)  5+4+3 7 543+3+4
(C)  6+3+3 f(D) 8+34
(E}  Question not dlu,?]plcd / et 94
i
17 Where is Pushkar f.m‘ org,ambcd ?
(A) )
(C) (D)
() Question not aupmpted
T 0 F vdvor #w Brar 87
) smgd L) smag
T s :“g[)) CICaELE:|
(E)  sqafa gy
Kim | ¢

Jodhpur Udaipur -

Ajmer Bikaner

24

Which of the following is a popular folk dance

118
torny of Rajasthan?
(A) Cihoomar 13 Bhangra
(C)  Yukshagana (1) }«uggj
() Question not atlernpted -
foyesy 3 B FY-H1 TSIEAT T 0 qéf;g A 2
Aoy (B)  wirgH
(C) uem (D) qrrgch
) ™,
(B) Tt g ri
C;’:,‘
119  Seclect the name of a desert which is located in the

state of Rajasthan.
Choose the most appropriate ahéwer from the
i

i-q!uons given below:

) Kalahari desgert i:_;
wj Great Basin desert oy
() Cold desert 4
Cﬁ) Thar desert :‘1
E) Question not attempted

%wwaﬁ#%ﬁmﬂm‘q ﬁ‘

B

%qr
Cﬁﬁ%ﬁgﬂﬁﬂ%@ﬁﬁ#ﬂﬁ&%ﬁ?ﬁwaﬁ
) e e
(B) e ifiram

((: mm
—é} ag'ﬂfmwf

120 ?ha s biggest saline water Tnke
ajasthan state is:

:E:ﬂooxo the most appropriate wywer from the
wplions g given below: N

m Kachor luke \g’\\h wr lake

Pdthj‘ adea fake

012217,

located  in

77

(B’
Rujsamand take (1))

() Question noy attempted
I T R S @R g cﬂ E'rﬂ
ﬂ

RN S TSI
=g Repeay § .
P ! »:@t‘mlxmﬁba:%vwa‘ﬂ]:}
( ‘) cmrgﬂvs “«HY W My st
) wEEsim (), WQUE $iter
() sipafie yy N

e i

Oy | Coned...
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121

122

. . " Jqnted with
Which of the following rivers is assot

. ' 9
inland drainage system of Rajasthan’ I
. the

Choose the most appropriate answer from

options given below:

(A) Chambal - (B)  Kantli
(C) Banas (D) Sabarmati
(E)  Question not attempied

Frrfafaa & @ a3 32 womam #i 37 2T
3TqaTE &1 ® ety 82

L.C.F, is 7, then the barger of the two numbers iy

R R ey VI T o T U

w7 8, @ 2 2t d ad) v .

(A) 55
A 11
(C) 60
my 1

freaferfian famect & & waffires sugm 3o 28
(A) =@ ) A ;
© (D) ww, .
(E) Ief@un YD)

b
Which is the originating place of Luni River inl"“.'?|I
Rajasthan state? E:
Choose the mast appropriate answer from lth:""-l'
options given below: ':
(A) Naga hills of Ajmer Q-
(B) Rupal Glacier P-‘
(C) Minda mountains of Vindhyachal p—
(D)  Chaurasi Garh an
(E)  Question not attempted b LA
F@ﬁmmmﬂm%%&mﬁgﬁ:
2 R
Ferfororn fomet & ratfors g 3o 3, :3,6
&) SRUE A 9 r';-«,
(B) wva femrz \/
(€) o ¥ fite oda
(D) g
(F) squfayg
123.” The LCM. of .Z. '9' and -g‘ is:

G 7 ¥ f O T
(A) 35 B Py
© = ) 210

(E) " Question not attempted / ygafa ay

(F) Ouc/nlion not attempted / me T
“Hawn Mahal" situated in Jaipur (Pink city) was
designed by which architect?

Choose the most appropriate answer from the
options given below:

(A) Sawai Jai Singh

(B) Lal Chand Ustad

(C) Ustad Hawa angh

(D) Sawai Pratap Singh

(E)  Question not attempted
R e
e e

Frafofes fredi i watfies Iugw 3w 93

(A) wRsafie By o2 3=
€ =mRenfiz (D) war yamfie
(E) ey

‘Folk songs are the language of people, they are
the custodiang of our culture’.
Who made the above st

fu/ Twe numbers are in the ratio of 52 1), 1 their .

atements?
(A) Mahatma Gangh
(B)  Sardar Pael
(C)  Jawanhar Lal Nehry
(D) Rabindry Nath Tagore
(1) Question Not attempiex
a@m’i VY M R, wry wepf & v
ST it Faerds v vy
AR LU 1 T Y
(©) TR ST A0 (1) g s :
(1) ormhagy %

| Contd... j
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127 The fumous Agni danee ol’ Jasanathi  Cull 129 Which fuir is the largest animal faie in Rojasthan?
- ol .

originated from which place in Rajasthan? Choose the mostppropriate answer from the
Choose the maost a,,ji‘ﬁ};priatc answer from the optlions given hcl%»y:
“ly
‘ (A)Y  Pushkar Cgmiel Fair

options piven below: .
(13)  Veer 'I“cjuj(y’/"‘it’:irnni Vair

(A\) Barmer \-4 %I

(B) Jaipur ti:]j (C) Animal F"{L,iKnruuli

(S Bundi vl ' (D) Donkey afERajasthan
- (12)  Question not attempted

(D) Bikaner
(E)  Question not attempted WWM HeTl A %fi‘r:wrr ?

Ww%m&ﬁmﬁzﬁm% ﬁmﬁaﬁaﬂﬁwﬁﬁﬂmffmmww
AT (A) észfmrgm
AT Sie mm s

(A) ~

™ ,
(B) AW - A D YT AT, THEAT
©) & 3 o (®) sERa s
(DY TR =§

(E) sraiia us ;i When carbon djoxide gas is passed into lime
— waler, it turns thg?me water mitky. This shows
the process of: 4

128 For which folk dram%jg; Rajasthan the stage is set
Choose the moa@ppmprfa{e answer from the

in an open colony org’founyard of the market?
options given below:

Choose the most apgpropriate answer from the
(A) Physical chahge
T~

options given below:

Gurukul Tara

{A} Bhavai ﬁ (B) Condcnsa{itm
(B) Jagore o (C)  Crystallizatibn
(C) Rammat v (D) Chemical ghange
4 \ Chpne
(D) Jatra ol (EY  Question ot attempted
o Y

Star shrel wrgaitaATEs W W <A F GE § ganho

TWUGT;Y!?TEFHWEH W@Fﬁaﬁ@jﬁlm Rparsrar @, a??(ka:mmaﬁmrmem’mﬁm;w

ST F: uah givror 7 feray sirar 27
ﬁﬁfmﬁmuﬂmﬁwmmﬁq

(£} Question not atwmptcd

m%mmaamm IAT A

(A) v - (Ay frw qh‘?jq
B) i P |  wEE oy
OB zj | rmz:fw&wi
(D) S 4 () Immﬁw:qfrcrh
(E)y = a9 ?1 (%) 313{?111?«9%:
| Contd...
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131 Galvanization is a process in which iron objects
are coated with to protect them from
rusting.

Choose the most appropriate answer from the

options given below:

(A)  Zinc (B) Brass

(C)  Gold (D)  Silver

(E)  Question not attempted

Bl e R R ——

wm%m%ﬁwﬁmwﬁ

BEEIRIE Y

FresReten fd & e e s i
) (B)

© D) sk

(E)  efaws

@ A magician plays a trick and adds a colourless
solution to a glass of ammonium hydroxide
: solution and astonishes everyone with white

fumes of ammonium chioride. The added solution
was:

Choose the most appropriate answer from the

options given below:
(A)
(B)
(€

Sodium Hydroxide

Hydrochloric Acid

Nitric Acid

(D) Sodium Chloride

(E)  Question not attempted

T SEm w11 fewmar & afn :mﬁﬁm [ BISgTHTES
wﬁmﬁ@mﬁmﬁmﬁaﬁﬁ;ﬂa&
T FARTEE % S % W G @ wfha ¥
fecrrar an ferer o, qdqn
Pt et f & warffire swge soc .
(A) mfémszmr!z

(B) Bt st

© wmfmam

(D) wifean aeinrge

(E) srmfa gy

%

|
133 Which of the following metal is found in liquid |
state at room temperature?

Choose the most appropriate answer from the

options given below:

(A) Magnesium (B)  Aluminium

(C) Mercury (D)  Sodium

(E)  Questior not attempted

Frferfian # & @ o s et % amme o7 7

mmrfttm?wmﬂ‘b

Freferfan Rraredt # & raffies soges 3w 3
L (A ARy (B) gty
Ci;C) el () (D) wifeay

Sl septaws
aw

ﬁz‘ Match List-I with List-IL.

(0 List-I (Element)  List-II (Colour)
*={a  Sulphur L Pink
i S Chlorine - I Yellow
|_<_" ¢ Phosphorous III.  Green_ Yellow
. Oxygen V. Colourless
0 T E g v e
| A wshr o T )
o T
] D. 11 R
N UL gdren

KLM| ¢

Choose the mogt appropriate answer from the
oplions given below:
:ﬂ%ﬁqmﬁw&%%mm—,ﬁ
(A) a-1v.b-1,¢. U d-1
(B) a-Lb-1Vie-Ld-1
©) a-NLb-1Le-1V,d-1
:)u'( a-lb-die-Ld -1y
(E)  Question not attempted / wﬁhﬁ e
28 ‘| Contd...

L


https://www.whatsapp.com/channel/0029VaEM4nU9sBI6pS9evN2a

135 ) Which of g1 ing i
( / Which of the followmg 1s the correet formula for

number of § for an obje
lmﬂges formcd r | cl plhccd
be

\" LTed H N H
ween twg plane mirrors inclined at g certain

angle?

Choose y ] 1
the mayy appropriate answer from (he

oplions given belowy-

i Numbers of image (N) =

]
e\
( angle between the mirrors ) l

Numbers of image (N) =
( 90

angle between the mirrors
Numbers of image (N)=
( 180
angle between the mirrors
Numbers of image (N) =
( 360
angle between the mirrors
Question not attempted

(B)

’)+|

)+1
)-

(D)

()

forett forarar shior q@ 7t < ae gduit & i et
e o s A

e e R < s o e

i A e

Fresfrfae e s Suge ST G

( 180 )

| i @ d 37 @)

-1

(A) gfafia) & ge@ N =
90 )

(B) st 1w N = | e

180
| il & dre 71 1)

+]1

(C) wiaferatl %1 wem N =

360
| e e

(D) wigfawi @t gen N =

.

36 ) Which oI ;

G bout reproduction in camels?
a

most appropriate answer from the

[ the following statement is not correct

Choose the
options given l)cluw.'
For reproduction, camel should not he

(A) 4
older than 20-22 years,
(3) In winter male camels are given more
nutritious food. |
(C) The gestation period in camel is generally
380-400 days.
(D) For reproduction, camel should not be
. younger than 5-6 ycars.
=I—'(E) Question not attempted

T rerferfian & & 32 3 9 AL B -8 F4 FE

:di%?s

fered f 4 warffires 3ug 3T -

gm s 3 e, e ot g 20.22 7 & s
Tei &t =y
CTIB) W S oxfres e o foar s
(IR .
A0 FTu mid i sy e 380-400
e S e 2

-

—
prd E)

T & A, Sz A oy 5.6 af & w
Bt =R
TR Wy

139_Af the difference in the com

pound interest and
ven sum for 3 years
then the sum (in )

:implc interest on a certain gi

& at10% per annum is 7 1,674,

:ka;ﬁfaauﬁrtrt 10% iy e

Gﬁﬁ@_ﬂaﬁxmm
AT IR TR (o 1) 2.
AT 54.000 (B) 53250

©) 52,500 (D) 54.600
(B) " Question not attempted / SR wy

138_/The simple
C/ The Stple ingere

I the ryqe peree
‘Aumber o yeurs

AW 3 9 &7
FATIET | 674

e —

stona sum ot 5000 18T 2430 ;
ntage of inferest is cqual to the
« then page pereentage gy -

(E) wrafa vy

X 5000 &y
SN 2 2450 B afe sqrg E3)
jﬁmzﬂﬁm%w%ﬁmaﬁm?-
. gt () 89 -
() 9y (L) 6
“‘:) i

Question noy

attempted / 31l gy
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7139 Asumof ¥ 1850 is to be divided among A, B and

A's sharc _ B's share _3
C such that - ‘ssharc ~ C'ssharc 4

Then A’s share B -

ISSOE‘TAdSﬁ(Cﬁ‘WW%\Iﬁﬁm
Amnm B %1 ym 3
NS stnm Cwwm 4

MAF Ry |
(A) 7520
(©) T 600
(E)

(B) T4s50
D) T500

Question not attempted / AR war
.

\ 140 Find the fourth 4 proportional of2 9and 18,

293ﬁt18$r€tmm3qﬁﬁmﬁﬁm
(A) 48 L. ® 76
) 8 (D) 25

(E)

Question hot attempted / 3R Wy

| v”. The total number of medals won by India in
Paralympic ‘90‘94 at Paris is:

(B) - Black

. (C Violeti\ D it
aovaﬁmwmﬁ IR RT3 g et oy [0 (Ei me;mm:mi e
m»-——t— e E_' m@ﬁm%ﬁgwaﬁ:@mmm
(A) ¢ (B) 30 "m B TS L
© 31 ¢ ) 2 "= mm&ammwﬁ
(E)  Question not attempted / IR Wi s’ (A) grea (B) wFmm TR

i ' 2L © o ©) ¥y
142 Select the name-of 1* and only woman Chief ‘j (E) 3133?(5}
Minister of Ra;asthan from the following: 5‘115 Which of th fxféllowmg branch of Biology g i
(A)  Smt. Sh]ia Dixit :3 with pnnc1p15§5f inheritance? S
(B) Smu Sushma Swaraj r Choose the hris appropriate answer from, the ‘
(C) Smt Sucﬁefa Kriplani options given below:
(D) Smt, Vasundhara Raje (A) Ecolo (B) Embryology
(E)  Question not attempted (C) Cytology (D) Genetics
19 fo faepedt: '} ¥ T H %Fh 3t mﬁ (E)  Questjop not attempled
Rlicuritat o oo AN i
(Amm
(B) W‘m 195
() ’/ﬁmﬁgﬁmm :
(E)  srefea wyr
KLM] ‘

143 The present govemor of Rajasthan is: (As on 0l
September 2024)
(A)  Shri Kalyan Singh
(B)  Shri Hdfibhau Kishanrao Bagde
(C)  Shri BHiajan Lal Sharma
(D)  Shri K{l‘r}j Mishra
d
(E)  Questign not attempte
mm%agqgmmﬁmzom 1) H
R O
(A) v wem fig
B R Bﬁ\m RE e RC i IUES
©) = mmm
(D) st W R

:—:

@ Which of th((fqllowmg flower colour expresses
as dominant traft in garden pea plant?

II!'_' Choose the /rdst appropriate answer from the
options given below:

(A)  Goldent'

El

30
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A

scasion of Teej festival in Rajasthan,
N individual (organism) | 149 On the occasion
¢ 146 Extemal appearance of an individual (org :

‘ sty wear
~=7 iscalled as: women mostly
4 . s
¥" Choose the mosr apprapriate answer from the

options given ‘hoo! mosf ﬂﬂ‘“ op: late answer fr
ti gl ' be{O\\‘Z

, . below:
(A}  Genotype options gIven  Odhn
(B)  Phenotype ) (A) Lahariya Bhant ki Odhni
(C)  Homozygous (B) Lahariya Turban
(D) Dominant character . _
(E)  Question not attempted (C) Pink Pomcha
ferelt e w7 amgy SHE FRAALR:
T - . D) Blue Pomcha
Fefafen i 33 waifa® I9gw S © ’
(A)  SAwew ofderny, 1 (B) Question not attempted
(B) wamyey (ftergy) v fter 3 AT 3 SO T AT st
©)  wogms (- : 5 —
(D) DTt Ty [:_. — uEl
(E)  raafa wsy

by Frevfetan el # & watfares swgw s,

o - ‘ -
) S i Y e |
147 That poetic text where the description of glory C':f;m —
wars and valour of 3 king given is: — (B) EBTFL‘F@)O
Choose the most appropriate answer from the e © WW
options given below: C":l D) e 2
L i
(A)  Vigar (B) Raso D) _ T
(©)  Rupak ©) Vel 0 ® wafass
(E) " Question not attempted ‘ E—l
a:smm ﬁm_w%’ﬁmm ﬁ’ﬁ, 7 3&(,_150 On which festival in Shekhawati region of
T it oty forere &, aw T Rejesthan g o .
N Y . 3?{(33 : o men dance in a circle playing a
(A) frme BTy \ A musical Instrument caljeq chang?
©) v (D) fy == Choose the gy jate answe
&) - - = . . appropriate answer from the
Pt OPHONS given bojoy:
—
148 Kuchamani Khyal was starteq by which famoyg [== (A) Holi (B) Tegj
folk dramatist? 1™ © b
. iwalj (D) Marriages
Choose the most appropriate answer from the (E) .
options given below: Question not attempted
(A) LachhiRam  (B) - NanyRam TN & S a % frw e w ey Wit
(C) Raja Ram (D)  Lala Ram G g 5 B
(E) " Question not attemped W ¥ = hikigu 8 R RE‘
s 4
__Hdn . T—— : ﬁqﬁﬂf@ﬂ ﬁﬁh‘aﬁ Y qifae I9g I
ﬁﬁ%?@aﬁmwﬁwwrwzmmiﬁ. Ay |
K a=ftoe (B) 7{]1“; ‘ @‘q} (B) Eﬁa.
© WD) g © feareh (o) foms_

) orafe wa ®)  rpafe v
KiM| ¢
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